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Cause and Effect

MHR Page 399 #s 1 ­ 9 & 11 ­ 14

Definitions
Cause and Effect Relationship
• The correlation between two variables in which a change in 
one directly causes a change in the other

Common Cause Relationship
• The correlation between two variables in which both 
variables change as a result of a third common variable

Presumed Relationship
• A relationship that makes sense but does not seem to have 
a causation factor

Reverse Cause and Effect Relationship
• A relationship in which the independent and dependent 
variable are reversed

Accidental Relationship
• A relationship that is based purely on coincidence
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a) r = √0.84 ≈ 0.92 suggesting a 
strong positive linear correlation. 
Given the widely held view that 
increased studying improves 
exam performance, there is likely 
to be a cause and effect 
relationship.

b) The equation of the line of best fit is y = 6.5x + 47. This 
would mean that if a student studied for 0 hours they would 
score 47 and for each extra hour of study, their mark would 
increase by 6.5.
c) Solving the equation for y = 100 
gives x ≈ 8.2 meaning that if you 
studied for 8.2 hours you would score 
100. There are limitations with this 
model though as one student studied 
for 10 hours and didn't score 100.

a) r = √0.78 ≈ 0.88 suggesting a 
strong positive linear correlation. 
Given the widely held view that 
increased practise improves 
game performance, there is 
likely to be a cause and effect 
relationship.

b) The equation of the line of best fit is y = 1.4x. This would 
mean that if a player practised for 0 hours they would score 0 
free throws and for each extra hour of practise, their number 
of free throws scored would increase by 1.4.

c) This model 
would suggest 
that it is 
possible to 
score more than 
10 out of 10.
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It doesn't seem likely that an 
increase in robberies has led to 
a decrease in automobile sales. 
There is likely to be a COMMON 
CAUSE. One possible answer is 
that during difficult economic 
times (recession or depression) 
there is a reduction in spending. 

There is also an increase in unemployment which may then 
lead to an increase in robberies. We can see from the tables 
that there was an increase in unemployment during the given 
time period of 1988­1993.

Despite the strong linear correlation, it doesn't seem to 
make sense that growing more tomatoes is going to 
increase the number of forest fires. 

It is more likely that there is a COMMON CAUSE. Climate 
change, and the associated increase in temperature, is a 
more likely reason for both of these occurrences.
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a) Common cause ­ Likely to do with an increase of population 
in the city. This would lead to both an increase in the number 
of parks as well as an increase in the number of fire stations.
b) Accidental ­ No obvious reason as to why the price of 
butter increases when the fish population increases.
c) Cause and effect ­ Seat belts are designed to save lives, so 
fewer people wearing seat belts will increase the number of 
traffic accidents that result with fatalities.
d) Presumed ­ It would make sense that someone with an 
increased vocabulary would have higher self­esteem. It is 
difficult to say one way or the other that one causes the other 
to happen, and it would also be difficult to find a common 
cause.
e) Reverse cause and effect ­ One might think that as crime 
rates increase, more police officers are recruited. One might 
also think that as more officers are recruited, more criminals 
are caught and charged.
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a) Cause and effect ­ Studies have shown that an increase in 
exercise reduces a patient's stress levels.
b) Common cause ­ No direct relationship between the two 
although strong study habits will likely lead to stronger scores 
in both subjects.
c) Accidental ­ No logical reason as to why the two are 
connected.

d) Presumed ­ People in stable relationships tend to have 
good communication skills and are therefore likely to 
interview well. 

Cases of the flu and the amount of severe winter weather most 
likely have a presumed relationship. Cold weather does not 
cause the flu.

Cases of the flu and tissue sales most likely have a reverse 
cause and effect relationship. More tissues are purchased when 
more people are sick.

The amount of severe winter weather and tissue sales most 
likely have a common cause effect relationship. More people are 
sick during the winter and sick people buy more tissues.
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Establishing a linear correlation between a dependent variable and 
an independent variable lets you know that there is a correlation, 
but does not explain how and why such a correlation exists.

a) This could be a cause and effect relationship with caffeine 
intake as the independent variable and nervousness the 
dependent variable.

b) The reverse cause and effect relationship would be that 
nervous people are more likely to drink coffee. 

a) The number of females enrolled in undergraduate 
engineering programs and the number of "reality" shows on 
television both increased for several years.

b) They are likely to be coincidental.
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